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/ BF(z)dr = lim BF(z)dr = lim < H_Zil >2Bk+1 x) (by LemmaT)
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= lim <k+1) Z BT (z) (since for suf ficentlylargez, Z B (z) =0)
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6. We know that e E
k=0
2 ! —t2 2 o (_tQ)k 2k
— dt = — t dt
N/ \/;/0 > %l o Z kl
k=0 k=0
9 oo (_l)k 1‘2k+1
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14. We know that In(1 —z) = Z <$k‘>
k=
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f(x):—/ozln(lt_t)dt:—/oz ( tk)dt /Ztkldt Zk2 by Theorme2)

anrl n 1 2 Tl2
lim 2" /(n+ 17 = lim |z|———= = |z|. By the ratio test, the radius of convergence is 1. Hence
we can compute f(0.001) by using this series. But | — 2| > 1, so we can’t use this series to compute
In(l -2z
f(=2). Instead we can compute it by using Taylor series of g at r =2
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